Name:

Date: . WeekiT: Day-*1'§-

(l_ Change to standard form.
510+ 4x 1+ 7x(75) + 3 (g) +

9 x (m%a)

\/2 If four layers are added above this \(3 Use >, <, or = )
first layer, how many cubes would to compare.

there be in all?
.128.118 O 28.181

N I " N /
ﬁ-[ Find the sum. \/75 Solve. 63 +27 \/6 | need to buy pizza for 12 people. | will give N
98 074 + 6.046 = each person % of a pizza. How many pizzas do |
need to buy?
I Wiy AN .
/7 What is the meaning of the following idiom’?\\/8 Write two words that use the root below. )

"to have butterflies in your stomach” | &
& Eé TELE }{{zﬁ far, distant J
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(q ~ Trace, then write what city you live in.
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Name:

Date: Week 17: Day 2

(] Change the decimal to expanded form, Y 2 If three layers are added above this\/‘3 Use>, < or= )

first layer, how many cubes would to compare

AN

18.06 there be in all?
ol9
—_— 0.519
f]1,000
S A \ P
/LI Find the difference. \K‘S Solve, \/6 | have 2 medium pizzas. How many people N
57 026 - 9.53 = 7 j 1,620 can | feed if | give % of a pizza to each person?

A Y

What is the meaning of the following idiom? \/8 Write two words that use the root below. )

“To give someone the cold shoulder?’|(_ =
< ORTHO 2 straight J

MEANIN
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>q_gace=the” write what city you live in.
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Name: Date: Week 17: Day 3
/| Solve. \/2 Change to standard form. \/3 Find the volume.
I . 7x100+2x1+8x<%0>+6x<,~,0'm)
3 x 6=
\ / - /
(4 Use><or=to Y5 Solve. 239:56 Y § Alana's phone has 28.06 GB of storage. She )
compare. downloads an app that takes up 2.18 GB. How
much storage does her phone have now?
63 O 43
hundredths tenths
e A AN o
(7 Ahyperbole is an exaggeration. Complete each hyperbole. \/8 Write two words that use the root below. )
o =
a. I was so hot | [§ JECT J [:7: H P ]
\b. Gillian runs faster than -/ -
/q _Tra}ce,r‘t_hen write your name inrcursive. \ Word 1:

b S I A TV AT . - ~ AWord2: Y,
Name Date: Week 17: Day 4
(l Solve \(2 Change the standard to expanded \\(3 Find the volume. )

| form. -

3+73 = 43.805
\ AN ANE &
/'-l Use >, <, or = to \/5 Solve. \/6 Jonah buys a drink for $1.75, a hotdog for )
compare. 8 j5 027 $2.87, and cotton candy for $2.45. How much
ons hundred seventy- money does he spend altogether?

two three
thousandths tenths
\ N\ AN v

/7 A hyperbole is an exaggeration. Complete each hyperbole. )

a. My dad has told that story times.

b. We waited for

N

/q Trace, then write your name in cursive.

to get on the ride.

N

(8 Write two words that use the root below. \

hold, take ]
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